. TAO NAN'SCHOOL -
PRIMARY 2 END-OF-YEAR MATHEMATICS EXAMINATION 2010

Paper 1
Name:. 3 { ] Date: 28 October2010
. Class: Primary 2___ Tire: 1.30 p.m. fo 2.30 p.m.
, | ~ Paper 1
- Parent's Signature: 50
| Paper 2 | |
S 30
Total -
| 80
section A {20.x I mark) -

Choose the comrect answer and write its number in the: U_doxmw..

1. 8hundredsbones =

{1} 85

(2} 801

(3) 805 .

(4] 850 {

2. 10-less than 369 is .

{1) 358
(2) 359
(3} 379
(4) 459 _ | _ (



4.

5.

What is the mdiss of the fruifs?

(1} 803g

(2) 805g

3) 830g

{4) 850g

$4.05 = ¢-
(1} 45

{2) 400"

(3} 405

(4} 450

30+ §is the same as
(1) - 2 groups of 3
(2} 5 groupsof3
{3)] 3 groupsof5
(4} 5 groups of 5




6. What fraction of the figure is not shaded?

o3
@ 2
6
4 3

7. The fime shown on fhe clocks .

(1) 3.11p.m.
(2) 3.55p.m.
@) 1i.15p.m.
T (4) 11.30 p.m.

._m. The water in the jug can fill up cyclinders.

(1) 6 2¢€
2 2
(3 3
(4) 4 =
Jug =

Cylinder



10.

1.

—_— V4 —
10 * =
n 35
5
(2) 0
. 7
B %
10
(4
126 + 35 = 3 . fens
(1} - 15
(2) 16
(3} 150
(4) 160
) 365m
| i
i l
Danny’s house Park

How far does Danny jog from his house to the library ?

(1) 802m
(2} 812m
(3) 902m

{4) 912m

Library




12.

13.

Sam bought 173 moamsmw._ocmm and 92 fewer funa puffs.

He bought ) tuna puffs.
{1} 78

(2 81

(3} 121

(4) 265 .

What comes next in the MUQ:Q:@

(1)

ey
¢
A
A

{3)

(4)



cm longer than the eraser.

14, The key is

(1) 5 —Lo.oad. 2 3 4 s

L .::..:___:__::_:

2) 6 _m "“ M
@ ne .m
4 12 ! P
15. There are squares in the figure helow.

s

@ ¢

3) 8

“4) 9 (-

16. Tos.\ many fifty-cent coins can be mxoro_:@ma with mm.oo. ?

{1} 5 )
2) -10°

@) 15

(4) 50 . | (




TP TS

Each . stands for 4 kg.

(1)

(2}
(3)
(4)

(1)

(2)
(3)

(4)

7

28
35
48

AW O~ O

t is the total mass of the box?




19.

.%+ww+www+$,umo

What is the value of %ﬂ VA m»ﬂ ?

(1) 25
2) 10
3) 5
(4) 4

-

20. Whai'is the missing number ?

(1) 10

2 2 ,
@) 3 3

(4) 5




Section B ( 15 x 2 marks)
Fill in the blanks with the comrect answer.

21.  Write 847 in words.

22. mcgmoﬂ 5 wmsm 2 ones from 400 . The answer is

31|15]|7




~24. Fill in the missing numbers in the patfern. .

660

Use the picture below to answer Q25(a) and b}

25 (a} Ring to show 5 groups of equal number.

10




26.

70 \ | 80¢

The picture graph below shows the number of cookies thaf were sold in

Angie’s Bakery last Sunday. Use the 33«39_03 provided to Q:mimn

Q27 and Q28.

Almond

Chocolate

Cormnflake

Raisin

Macadamia

stands for 10 cookies

Each.

27.  Angie's Bakery sold _____macadamia and almond

cookies Q:o.@m,*jmﬁ

28. Angie's Bakery sold times as many raisin cookies

as chocolates cookies.

11



Arrange the following in Qmmnm:a%mm order.

11 1

11
2.5.3.14

;] y ?
biggest , m:_m__ma
: )
Sarah completed her homework at 11.45 a.m.
She took 1 h 15 min to complete it. L
She started doing her homework at | a.m.

\V . 1h15min before

A

12




s .

glasses

kettle

3L _ " mt of water is needed o fill up i@ .wmz__o..
32. The figure below is made up of | ..Qm.:«mm and
straight fines.

P A



33. .:EED.U’O% the 6.:.055@ 2 objects has only curved surfaces?

i
.
v
H

book rugby ball cylinder | doughnut

: . and

cabntd . e,

1

34.

3 doughnuts for $4

14




35. Tama 3-digit number. The digitin the hundreds place is 9.
The digit in fhe onies place is 2less than the digitin the tens
place andthe sum of these 2 digifs is 14.

What numberam1 ?

Tam | . | 1 .

End of Paper 1

15



.- Questions*

- TAO NAN SCHOOL. o
mx_>>>x< 2 mz_u Om..*m)x >>>.q=m_$>,_._0m mx>>>~z>._,~02 No._o

Neme,_. . ( ) “Date:28 Qctober 2010
Class: mmBQQ 2 ". | jB@ htoo p:m. *,o,mh.o“o‘ R.Mm.
Parent's Signdture: - . ZQ:G _ / 30

[ to & ﬁ..P_\\K = gos\w\,% QPS .

-Quesfions 6 to 10 cany 4 marks éach. :
Show your working and answer ma*m::ma o.m.o%.

1. Dollyis éyearsyoungerthan Paul.
-Paulis 24 yeaisold.
 How old is Dolly ?

| —( - ) —-
Paul © - o
Daoily — )—»
Dolly: is | years old.




9. Mrs Chan fead .wm& a book on Monday.
She read WQ the book on Tuesday.
What fraction of the book did Mrs Chan read

-

altogether?

PP

-

She read _. of the book Q;Omwmfmr .

N\. Mr Wong and his family spent $44 af o _.m_,"ﬁncaﬂ.
% He gave the cashier 5 ten-doliar notes. .
How much change did he receive?

. He received $ ~____change.




There are 6 cones in a row. e

4 balls are placed between every 2 Eones.

How many balls are there altogether?
{Complete the pictures to work out your answer.)}

>%>%>M_

There are ‘ | UQ“___M altogether.

- -

Jenny needs 4 eggs and 5 ¢ups of flour to bake
cake. If she has 16 eggs to make some cakes, how
many cups of flour does she need?

(Complete the table to work out your answer.)

Eggs | 4
Flour 5

She needs cups of flour.




6. Z:Ojoo_ made an orange. Q_‘S_A by mixing 4 £ of syrup-
with 20 ¢ of water. She then poured the orange drink
mnco__< info 3 containers. How many __:om of orange o_:sw
.were there in each container?

There were oo oﬁ:mm&dmom in each container.

7. There are three pieces of tibbon. Ribbon Als 38 cm.
-~ Ribbon Bis 9 cm longer than Ribbon A. |
Ribbon C is 5§ cm shorter than Ribbon B.
What is the length of Ribbon C? .

The length of Ribbon C'is _ a cm.




8. ,w.oo::w ate 10 strawberies. She gave the rest of her
strawberries equally fo 6 of her friends.
Each friend gets 5 sirawberries.

How many strawberries did Joanne have at first?

She had : strawlberries at first.

9. Mrand Mrs Lee brought their two children to the zoo.

How much did they pay altogether?

Entrance Fees
Adult | $10.00
Child $3.50
The family paid $ : ‘ in total for the

tickefts.




10. Study the pattern.

Pattern1  Pattem2 = Pattem3 _ Pattern 4

" (@) How many squares dre there in Pattern 2 ?

- - ‘ -

There are _ squares in Pattern 2.

(b} How many squares are there in Pattern 4 7

There are ~____squares ipyPattern 4,

6






Answer

EXAM PAPER 2010

SCHOOL : TAO NAN PRIMARY
SUBJECT : PRIMARY 2 MATHEMATICS

TERM : SA2 -

011 Q2| 03| 04[05106]Q7 | Q8| Q9 [QLO[(Q11]Q12]|Q13]|Q14|Q15|Q16]|Q17
3 2 31 .3 1 4 3134 312 4

18 [ Q19] Q20

et 1 | 1 -

21) Eight hundred and forty-seven

22) 348

24) 680,540

PAO0O0O0 000>
TOOOOO0O >

O0000 -
woYolololelolore=

25b) 40 / 5=8

26) 290 cerits
27) 90
28) 2

©29)v2 , 1/3, Va,1/5
Page 1 of_3


Answer Key


30) 10.30 a.m

31) 1000

32) 8 curves and 10 straight lines
33) rugby ball and doughnut

34) $24

'35) 986

Paper 2

1)
24— 6 =18

Dolly is 18 years old.

2)
2/12 +5/12=7/12

She read 7 /12 of the book altogether.

3)5%10 = 50
50-44 =6

'He received $6 change.

? %>%>@>

There are 20 balls altogether.

5)Eggs:4,8,12, 16
Flour: 5,10, 15, 20

‘She needs 20 cups of flour.

6)20+4 =24
24/3=8

There were 8 liters of orange juice in
each container.

7)38+9 =47
47 -5=42

The _m:m§ of Ribbon Cis 42 cm.

1 8)6x5 =30

30+10 = 40

‘She had 40 strawberries at first.

9) $10 + $10 = $20
$3.50 + $3.50 = $7
$20 + $7 = $27

The family paid $27 in total for the
tickets. _

10a)1+2=3
There are 3 squares in Pattern 2.

10b) 6+ 4= 10
There are 10 squares in pattern 4.
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